Pre Calculus ‘ Name: M \. LQ/CK/\ -
Review 5.5 to 5.6 o ' Block:

> Calculator Allowed-SHOWALL WORK FOR CREDIT

Find the area of each triangle.

1. a=5cm, b=12cm, ¢ = 13cm 2. ¢=3.58m, b =6.8m, 4 = 39°
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Solve each triangle. If there is no solution, explain why. If there are two triangles, solve BOTH!
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3. b=40,c=454=51° 4. ¢=125,b=150,C=25° |
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5. w=75,x=10, y=12 6. w=8 W=79°X=33°
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7. Given an example where three parts of a triangle are given, but no triangle can be formed. Explain your

answer including a diagram.
G2 .. 5SS where e som o

‘ O/Oﬁ’M e ASS of the 2 smallest—sicbes

> e e 2% side s o short S < maller +han e ¢ sicle.
WA
@ atre, baiz, cn s

For questions 8-9, do NOT copy a question on any of the worksheets for 5.5 or 5.6! !%om own problem!!

you may choose whether or not a diagram is given in the problem.
8. Create a new application question that whose solution is found using the Law of Sines. Then, solve your \
problem. p
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9. Create a new application question that whose solution is found using the Law of Cosines. Then, s6lve your
problem.



